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Expand and simplify:
z(z+2)(z+3) z(z—4)(z+1) z(z — 3)(z —2)
2z(z +3)(z +1) 2z(z —4)(1-z) —z(3+z)(2— z)
—3z(2z — 1)(z+2) z(1—3z)(2z+ 1) 222(z —1)?
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notation
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# [ D - The product
(a+b)(c+d)

#{F £ - Difference
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Expand and simplify:
(z+3)(z+2)(z+1) (z—=2)(z—1)(z+4)
(z—4) (@ —1)(z —3) 2z —1)(z +2)(z — 1)
Bz +2)(z+1)(z+3) 2z +1)(2z — 1)(z +4)
(1-2)(3z+2)(z—2) (z—3)(1—2)(3z+2)

THE BINOMIAL EXPANSION

=l ¥





image2.png
& x

File Edit View Window Help

Each term of the
dices first bracket is
‘multiplied by
o > cach term of the
‘expansion and ( < o e
simplification second bracket.
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